

Page 1 of 4

Contract ID: 22465 Counties: MONMOUTH

Letting Date: November 17, 2022 District(s): H4

Call Order: 465 Project(s): STATE

Contract Time: 05/31/23 COMPLETION DATE Min: Max:

**Contract Description:** Maintenance Dredging of Keansburg Channels

Line No / Item ID Item Description				BERG MARINE (2) MOBILE DREDGING & VIDEO PIPE, INC.				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	miscellaneous		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	36,000.00000	36,000.00	15,267.00000	15,267.00		
_	RMANCE BOND AND NT BOND	DOLL						
0002	152015P	1.000	18,000.00000	18,000.00	10,000.00000	10,000.00		
POLLUT	ION LIABILITY INSUF	RANCE DOLL						
0003	153009P	(1)	9,600.00000	9,600.00	5,000.00000	5,000.00		
BAR CHART PROGRESS LS SCHEDULE AND UPDATES								
0004	154003P	(1)	401,240.00000	401,240.00	624,831.00000	624,831.00		
MOBILIZATION LS								
0005	155003M	1.000	36,000.00000	36,000.00	30,000.00000	30,000.00		
FIELD OFFICE TYPE A SET UP U								



Page 2 of 4

Contract ID: 22465 Counties: MONMOUTH

Letting Date: November 17, 2022 District(s): H4

Call Order: 465 Project(s): STATE

Contract Time: 05/31/23 COMPLETION DATE Min: Max:

**Contract Description:** Maintenance Dredging of Keansburg Channels

Line No / Item ID Item Description		(1) WICKBERG MARINE CONTRACTING, INC.		(2) MOBILE DREDGING & VIDEO PIPE, INC.				
Alt Set /	Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	: 0001	miscellaneous		Cat Alt	Set:	Cat A	It Member:	
0006	155021M	6.000	7,080.00000	42,480.00	2,500.00000	15,000.00		
FIELD OFFICE TYPE A MO MAINTENANCE		МО						
0007	157004M	1.000	24,000.00000	24,000.00	30,000.00000	30,000.00		
CONSTRUCTION LAYOUT DOLL		DOLL						
0008	158003M	1,700.000	12.00000	20,400.00	8.00000	13,600.00		
CAUTION F	ENCE	LF						
0009	158012M	2,260.000	18.00000	40,680.00	9.50000	21,470.00		
HEAVY DUTY SILT FENCE, BLACK LF		ACK LF						
0010	158015M	340.000	36.72000	12,484.80	44.00000	14,960.00		
HAYBALE U								
0011	158060M	173.000	180.00000	31,140.00	100.00000	17,300.00		
CONSTRUCTION DRIVEWAY T								



Page 3 of 4

Contract ID: 22465 Counties: MONMOUTH

Letting Date: November 17, 2022 District(s): H4

Call Order: 465 Project(s): STATE

Contract Time: 05/31/23 COMPLETION DATE Min: Max:

**Contract Description:** Maintenance Dredging of Keansburg Channels

Line No / Item ID Item Description		(1) WICKBERG MARINE CONTRACTING, INC.		(2) MOBILE DREDGING & VIDEO PIPE, INC.				
Alt Set	/ Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>N</b> : 0001	miscellaneous		Cat Alt	Set:	Cat A	It Member:	
0012	158072M	2.000	1,800.00000	3,600.00	500.00000	1,000.00		
OIL ONLY TYPE 1	'EMERGENCY SPILL K	KIT, U						
0013	159018M	2.000	4,800.00000	9,600.00	2,000.00000	4,000.00		
CONSTRUCTION IDENTIFICATION U SIGN, 6' X 12'		ON U						
0014	161003P	(1)	54,000.00000	54,000.00	158,873.00000	158,873.00		
FINAL CLEANUP LS		LS						
0015	202041M	16,623.000	26.40000	438,847.20	13.50000	224,410.50		
DREDGING, TRANSPORT AND CY PLACEMENT TO CDF								
0016	202042M	10,647.000	30.00000	319,410.00	24.70000	262,980.90		
	IG, TRANSPORT AND ENT TO BEACHFILL	CY						



Page 4 of 4

Contract ID: 22465 Counties: MONMOUTH

Letting Date: November 17, 2022 District(s): H4

Call Order: 465 Project(s): STATE

Contract Time: 05/31/23 COMPLETION DATE Min: Max:

**Contract Description:** Maintenance Dredging of Keansburg Channels

Line No / Item ID Item Description		(1) WICKBEI CONTRAC	RG MARINE (2) MOBILE DREDGIN VIDEO PIPE, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 miscellaneous			Cat Alt Set:		Cat Alt Member:			
0017	MMG015M	16,623.000	57.76000	960,144.48	13.15000	218,592.45		
DREDGED MATERIAL CY PROCESSING								
0019	MMG079M	1.000	112,040.00000	112,040.00	1,045,538.15000	1,045,538.15		
DREDGED MATERIAL LS DEWATERING SITE PREPARATION								
Section Totals:			\$2,569,666.48		\$2,712,823.00			
Contract Totals			\$2,569,666.48		\$2,712,823.00			
Cost Plus Time Totals				\$2,569,666.48		\$2,712,823.00		

( ) indicates item is bid as Lump Sum  $\,$ 



Vendor Ranking Page:

Call Order: 465 Contract ID: 22465 Counties: MONMOUTH

Letting Date: November 17, 2022 10:00 AM District(s): H4

Contract Time: 05/31/23 COMPLETION DATE

Contract Description: Maintenance Dredging of Keansburg Channels Project(s): STATE

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	WICKBERG MARINE CONTRACTING, INC.	\$2,569,666.48	100.00%
2	MOBILE DREDGING & VIDEO PIPE, INC.	\$2,712,823.00	105.57%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.